20154

2N
X ZH -
L= B

el

t

- _ _ RE]
CEE O (BA) - HRAY - BAS %@ﬁ
AT XY AN ,099,065 7,287,072
= 189,700
2 ,000,000
J| 148,963
&< 643,650
Al ,116,752
= =4 ,989,062 7,178,696
= 189,700
2 ,000,000
J| 148,963
= 643,650
Al ,006,749
delEXME 4 ,926,371 2,597,851
2RO HE A3 S 4,700 4,700
201 et d| 4,000 4,000
03 A2 G HI 4,000 4,000
OHd st st 4,000
301 LEtE A= 700 700
09 SHAIAHI B A2 700 700
OdstE2sFX 24 700
DNRAATZIICA 4 26,776 24,776
201 et 6,000 6,000
03 A2 HH| 6,000 6,000
Oz 82 2 © ©9 ASUS 6,000
202 o4 | 7,776 7,776
01 2Ll 7,776 7,776
OAZZ)|E YREX
81,0008 » 3Y¥ 22 * 163 7,776
203 ¥ 2 =&XH| 10,000 8,000
03 Al =& 2 = X H| 10,000 8,000
O&= 2 =42 stz | 10,000
307 2iz2to| A 3,000 3,000
01 s =t 3,000 3,000
ONSHEAIXNEE R2AE 2 3,000
Z0He M43t 2,400 2,400
301 et A= 2,400 2,400
09 HAIAHI BEAZ 2,400 2,400
Ol delEXM=E & 1,200
OZOe MeESdstsl &It 1,200
EHEAINI RS G A& 112,302 88,212




2N AT
FM: HsdE 84
el WRAEHS K4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 112,302 88,212 24,090
03 BIAHMNHE2IHIEE 112,302 0 112,302
OEHHMAIM =3 l24H] 77,000
SANRIE 3,916,660& * 12& 47,000
oER 2,500,000& = 12& 30,000
O4liEg = 7,700
oMNE=F 47,000,000& = 10% 4,700
oER 30,000,000& * 10% 3,000
OEIARES 6.417
SANR2E 47,000,000& = 1/12 3,917
oER 30,000,000& = 1/12 2,500
OHAl M= 234 X 21,185
ZRATOHAE DL 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 QIZFHALAIH B & 150,000 150,000 0
ORB508 ZAZQME FHIHEFAl) 150,000
stnMsgdst KN 572,553 620,053 AA4T7,500
308 XX EHH SOl A 572,553 620,053 A 47,500
08 WSEII20HetE = 572,553 620,053 AA47,500
Ogtuilds €452 XA 107,343
OZ3E AEUMSEUHs & SDHsE8ds Xd 155,210
OsgtungdAera NAS 10,000
O2c&sdd A (ELED) 300,000
AL EM=EUHS & 6,000 8,000 A 2,000
301 et a s 6,000 8,000 A 2,000
09 HALAHIEA S 6,000 8,000 A 2,000
OAUSH=Ua QUAAARE 24 6,000
a2 Y S delEMsEUE 24,000 22,000 2,000
307 21201 A 24,000 22,000 2,000
04 DIZFHALALSE E X 24,000 22,000 2,000
OdelEXN=HSE &It 24,000
SUBIIE A2 LIS 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DI2HHALALSE E X 10,000 10,000 0
OdgEIE HZEeelllthal Nzl 10,000
A EXNE 243 XA 452,140 350,210 101,930
307 glz2+ol & 452,140 350,210 101,930
02 LIt AMAHEE 452,140 333,540 118,600




2N AT
FM: HsdE 84
el WRAEHS K4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXM=& EHl 368,140
oMEsXNE A elAbl 322,640
oSHE#H XA 7,500
ocdXEEd XA 4,000
oM=a ¥ oMM AN+ SEXR 2,000
cdelEXM=Us & X& 4,000
oI 22Xk ¥ 228 X 13,000
ocRMHES XNEA XNA(H==2) 10,000
o Moes MIMESUI =SHEEF It 5,000
OHMoeal 8=H=U= XA 84,000
ZRASX A 23 18,500 18,500 0
307 21201 A 18,500 18,500 0
04 QIZFHALAIR B = 18,500 18,500 0
OHM212 ZRAZXAD 23 18,500
EHERAHE M= 0 S0 22l 153,000 153,000 0
307 gl2tol & 153,000 153,000 0
04 DIZHHALALSE E X 153,000 153,000 0
OHM73 EHEAH =2 0 =10 IS OH
eS| 153,000
EHEHAIED] S E0H 2 U3 13,000 13,000 0
307 21201 A 13,000 13,000 0
04 QIZFHALAIR B = 13,000 13,000 0
OHM163 EHEHAIED TWH S0 U3 =l 13,000
EHERALD] M= g HESUE 164,000 164,000 0
307 gl2tol & 164,000 164,000 0
04 DI2HHALALSE E X 164,000 164,000 0
OHM123 EHeAtD] M= Zg HESUHE Al 164,000
EHEHAHE M= S0 S&4ZJ| dAHU3 166,000 0 166,000
307 g1+l & 166,000 0 166,000
04 QIZFHALAIH E = 166,000 0 166,000
OM128 EHHAD] 8= S |S43J| d+=2
hal 166,000
d= FH =7 WA 362,000 330,000 32,000
307 glz2tol & 362,000 330,000 32,000
04 DIZHHALALSE E X 362,000 330,000 32,000
OHMl46al &= = s HUA Al 362,000
EHERARD] =2 S0 2 U3 53,000 53,000 0
307 glz2+ol & 53,000 53,000 0
04 QIZFHALAIH E = 53,000 53,000 0




=4
ZIEME &4 (2 &HH)
5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
OHM113 EfgHAD] M= 0 Z2&0UE i 53,000
SSHALL2H2A)] =2 YW D BIAEZUE 266,000 266,000 0
307 QI2t0| & 266,000 266,000 0
04 CIZ2tSHALALS B X 266,000 266,000 0
OHN263 SStMsAZL2H2A)] =2 HH 12
EHE =3l JH = 266,000
H E=2EFD SEHWEA 150,000 0 150,000
307 gizto| A 150,000 0 150,000
04 CIZ2tSHALALS B X 150,000 0 150,000
OHN433 =H =280 REHUN 150,000
StEAe)| M2 CHUHE EHA S 220,000 220,000 0
307 2I2t0| & 220,000 220,000 0
04 SIZ2HSHAMAISHE E X 220,000 220,000 0
OHM243 228224 =2 CHHUHE A=
3 i = 220,000
Aol MU= 1,213,377 953,377 260,000
= 39,700
J| 148,963
= 22,650
Al 1,002,064
EHBHAIME Y =S SHXH 96,467 89,788 6,679
307 gizto| A 96,467 89,788 6,679
03 I HEHESIHIEX 96,467 0 96,467
OEHHAIME =3 22| 77,392
o AR =2 & 3,647,330 » 12€ 43,768
oEF 2,802,000& ~ 12& 33,624
o482 =2 7,740
o ANEZ2E 43,768,000 * 10% 4,377
oEXR 33,624,000 * 10% 3,363
OExAgZ 6,450
SPUNE =P 43,768,000 = 1/12 3,648
ox: 33,624,000 = 1/12 2,802
OBl AIME =TS S29H EX 4,885
AT MEHFUHE =} 100,000 88,000 12,000
307 2I2t0| ™ 100,000 88,000 12,000
04 SIZ2HSHAAISHE E X 100,000 88,000 12,000
OLJoMEH=sa &It 88,000
OLIT oI MEHSUHS &I 12,000
MEH=3SH 6,470 13,670 AT,200
J| 3,235
Al 3,235




S A=Y M
HEM: ALY 4
ool MBSO K (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 6,470 6,470 0
J| 3,235
Al 3,235
02 QIZFA AAIE E X 6,470 6,470 0
OMEN=: 29X 6,470
D] 3,235
Al 3,235
MEH =KX B X 150,528 174,216 AN 23,688
J| 72,864
Al 77,664
307 QI2t0| ™ 150,528 174,216 N 23,688
J| 72,864
Al 77,664
02 QI2tAAMAIE E =X 150,528 174,216 N 23,688
OME XIS X 8 XI
2,024,0008 ~ 6% * 12€ 145,728
J| 72,864
Al 72,864
OMEHEXNEX LM
400,000€ * 23] ~ 6YH 4,800
HE2H HM=s2s AId 150,528 124,440 26,088
J| 72,864
Al 77,664
307 QI2t0| ™ 150,528 124,440 26,088
J| 72,864
Al 77,664
02 QI2tAAMAIE E =X 150,528 124,440 26,088
OWEN H=egs N
2,024,000& ~ 6 * 12€ 145,728
J| 72,864
Al 72,864
OWZ4 MEXNEA HRIMA
400,000€ * 23] ~ 6Y 4,800
MEYZEHES 38,384 32,184 6,200
201 2Et2Ay| 21,200 17,000 4,200
01 AP 22| H| 1,500 1,500 0
OAZXY M LRFH 1,500
02 324 H| 19,700 15,500 4,200
OAHOIEEHE & dMIIR2 900,000& = 12& 10,800
ONoIEEE S Mot=ER23
200,000& ~ 12€ 2,400
ONMESANE 2RI AIEE 5,000
OXLANSEASE SFHl 300,0008 ~ 5& 1,500
202 04| 5,184 5,184 0
01 2L Hl 5,184 5,184 0




2N AT
HH: YR K4
ool MBSO K CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAZXY M HEFH
81,000& = 4% = 22 « 83| 5,184
203 R =& 10,000 8,000 2,000
03 A F=XH S =ZH| 10,000 8,000 2,000
OAZ= XS 10,000
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
OMETSAE 2tel 2,000
HEMs 2208 24,000 22,000 2,000
< 12,000
Al 12,000
307 gl2tol & 24,000 22,000 2,000
< 12,000
Al 12,000
02 PIZHEHAHE X 24,000 22,000 2,000
OdedsZzd 22 XA 12,000
< 6,000
Al 6,000
OdaENsuns 29 12,000
< 6,000
Al 6,000
=2 Y SHP MEMSUE 70,500 60,500 10,000
307 21201 A 70,500 60,500 10,000
04 DIZHHALALSE E X 70,500 60,500 10,000
Od= & THe dEdsHa ot 50,000
OFHel MeEX=sHal &It 5,500
Ooz4l stotgd=EH &t 15,000
MEMH2D FPHEMESEAU 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OHM 153 WEH2tI SFRUE 30,000
EHER A AATHES TS 25,000 20,000 5,000
307 glz2tol & 25,000 20,000 5,000
04 QIZFHALAIH 2 = 25,000 20,000 5,000
OEHEH AR AHAHES OHS! OH = 25,000
Q2L RAXIAI AAZELI] 3 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OXM152 2L X AZelll Hal 10,000
NI dEHFH 60,500 60,500 0




S A=Y M

HEM: ALY 4

Sl MEBHSD e (el @2)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 60,500 60,500 0
04 QIZ2tSHALALS B = 60,500 60,500 0

OEHHAI D] S MEMSHS M= (11IHKHS]) 60,500
ALRHISHAY 21,000 19,079 1,921
= 14,700
=} 3,150
Al 3,150
301 et A= 21,000 19,079 1,921
= 14,700
& 3,150
Al 3,150
01 M EXEE 45612 21,000 19,079 1,921
OAZXHISHAIS 21,000
= 14,700
& 3,150
Al 3,150

HAEIIIEEE2D =203 45,000 45,000 0
307 2Iz2t0| & 45,000 45,000 0
04 SIZ2SHAAISH E & 45,000 45,000 0

OHM143 HEISEA2D] =320 3 45,000

EHEHAIEHY 2R E Oet2Ee 23 9,000 9,000 0
307 2iz2to| A 9,000 9,000 0
04 CIZ2tSHALALS B X 9,000 9,000 0

OHMAS| EHEHAIEE 2T Ot 23
N = 9,000

EfEEAD] M= AEO Z320U3 34,000 34,000 0
307 2Iz2to| & 34,000 34,000 0
04 SIZ2ISHAAIH E & 34,000 34,000 0

OHM73 EHBEAID|] & =2 AAQ Z32M3 34,000

EHEH A M= SS90 HILAWSE 20,000 20,000 0
307 2izto| & 20,000 20,000 0
04 QIZ2tSHALALS B = 20,000 20,000 0

OHM63 EfSHAHl &= S3Q HUAUE = 20,000

EHEH B =SS BHESIE ] 3 23,000 23,000 0
307 QI2t0| ™ 23,000 23,000 0
04 CIZ2tSHALALS B X 23,000 23,000 0

OHMI9Z| EHEHAH =230 BHELIE WS 23,000

EHSHAIED] &= HEQO SIZE 10,000 10,000 0
307 212t0| & 10,000 10,000 0
04 SIZ2ISHAAISH E X 10,000 10,000 0




2N AT
HH: YR K4
ool MBSO K CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHM32l d=A&el =23 10,000
EHEdAtE 8= SSQ SFRUE 15,000 20,000 A5,000
307 21201 A 15,000 20,000 A5,000
04 QIZFHALAIH B & 15,000 20,000 A5,000
OXMb5sl EfeAEH 82550 SFUE 15,000
ZEE Hd AoE=ZSUE 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
02015 22 HEHOESUHS 20,000
mAE Hsny 29 18,000 18,000 0
307 glz2tol & 18,000 18,000 0
02 It M AHE X 18,000 18,000 0
O=s7ua2d9 5,000
OAJnazd 5,000
OtHt=sna2dg 8,000
H23s 2MSERE2I 832 §L1UE 40,000 0 40,000
307 glz2+ol & 40,000 0 40,000
04 QIZFHALAIH E = 40,000 0 40,000
OHM23s 2=Hs2F22I] 52U 40,000
Hi11s 83+ HSIEHH =S U3 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
OM11al =2+ A HH =S U2 30,000
AHAZXER2 ZEAMY 70,000 0 70,000
207 O & H| 70,000 0 70,000
01 2284 70,000 0 70,000
OMHAZXER BIEEAEY 70,000
ZEHMOSHAEYE 29 50,000 0 50,000
= 25,000
< 7,500
Al 17,500
207 A O] 50,000 0 50,000
= 25,000
< 7,500
Al 17,500
01 289 50,000 0 50,000
OZ2HAIOIZ2 HAEY A=Y EY 50,000
= 25,000
< 7,500
Al 17,500




2N AT
3 MsaY |4
ool MBSO K CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jdet2t ==& AIZ8&dl 46,000 0 46,000
401 Al HIZ 201 Y] 46,000 0 46,000
01 A& HI 46,000 0 46,000
OOet2E=EE OlsAs EAs X
8,000,000& * 2J0H A& 16,000
OstdIet2E20d FHA &5 30,000
AEXOHAE 74,924 233,240 A~ 158,316
AEZXOAE &4 74,924 233,240 A~ 158,316
201 L2l 12,500 19,900 AT,400
01 At 22l 3,000 11,900 A 8,900
O&Xeds8 &% ZdtE M
60,000& * 500H 3,000
02 =224l 1,500 3,000 A 1,500
Ol HsSAE gUE 100,000& * 152/ 1,500
03 A2 S HI 8,000 5,000 3,000
OsEE JIg3d7Y 10,000& = 50074 5,000
O&Xledgd sg=7¢¥ 25,0003 = 12004 3,000
202 4 Hl 4,536 4,536 0
01 = LH 4 HI 4,536 4,536 0
OF2 MISH 2L0AEY X
81,000& = 143] * 2 » 29 4,536
301 et A=z 7,888 8,804 2916
09 &AL HI B &S 7,888 8,804 A916
O&Xlzd 2HX 23 i 2,000
OX= M=EHHM ESZ20tAE elz2tel oyl
81,0004 = 83| * 2& » 39 3,888
OdX=dgd £x & 2N 2,000
401 Al HIZ 201 8] 50,000 200,000 A 150,000
01 A& HI 50,000 200,000 A 150,000
O=2gdJ1d 223l 50,000
HSIIBAEEY - 22l 4,774,390 3,394,228 1,380, 162
= 150,000
& 1,000,000
< 621,000
Al 3,003,390
SEZIE 222l 255,298 330,917 AT75,619
101 @14l 24,496 23,115 1,381
04 DIt 22 HEE = 24,496 23,115 1,381
Oo&tizel 224k E= 24,496
=Jlzag 44,640 * 28 * 200 17,856
e 44,6402 * 2% * 43 3,840
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SN AZY M
3 sNtg 24
el MISIIMAMTY - Bel CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o 2HAIH| 3,000& * 2% * 200 1,200
o HAEFIHHI 400,000 * 2 = 23] 1,600
201 et A | 140,210 156,210 A 16,000
01 At 22l ] 40,810 56,810 A 16,000
OdINE A2 &9 8,000
O=28X M8E 14,000
OTIIE N& gxaeLy
50,000& = 3.3"Y *» 114 18,810
02 3524l 99,400 99,400 0
O2222 2 MA 49,100
oHMIILS(7TIHA) 800,000& = 12& 9,600
oAl 2 2,800,000& = 12& 33,600
ocEHAMNEREEZ 400,000 * 23] 800
ol EHEEE 5,000,000& * 13 5,000
o XS XA (1) 100
OH =4l 5,500
oZEAHINIE ety 400,000 = 58 2,000
o Xtz L XCIJIH HZH|
350,000& = 10& 3,500
OA & &Hl S X 28,000
oESHIE AIEAE2 SA 22 (9MA) 28,000
(@OPNE=i] 3,600
oS24 E™ 300,000& = 12& 3,600
ORoHHAIAE S22 =4
500,000& = 12& 6,000
O2LLaHelANd RA&e 84
300,000& * 20HA « 12&8 7,200
202 044 2,592 2,592 0
01 2L Y| 2,592 2,592 0
OFEEINE 2el g2F4
81,0008 » 2 % 22 % 83| 2,592
206 M = Hl 20,000 20,000 0
01 24 20,000 20,000 0
OUTE Z2l(=2, H2S) 20,000
401 Al HIL 201 60,000 111,000 251,000
01 Al&HI 60,000 111,000 A51,000
OZZINIE YA FEAG A 30,000
OFEEIHE Mx2z2 Hb| 30,000
405 XHo&HF S HI 8,000 18,000 A 10,000
01 JHMY =2 E F S H 8,000 18,000 A 10,000
OZEFIE N=sd8gMES 2L 8,000




S AZXY N
M sME B4
el MISIIMAMTY - Bel CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
LN 222 231,092 208,311 22,781
101 @121 24,496 23,115 1,381
04 JI2ZtH22XNHEE =+ 24,496 23,115 1,381
Ol 22l 22X B 24,496
oJlga2 44 6403 * 29 x 200 17,856
oFELY 44,6403 * 2Y x 43¢ 3,840
o 2HAH| 3,000& » 2% * 200¢ 1,200
o YA SF I 400,000 * 2¥ = 23] 1,600
201 et A | 199,300 177,900 21,400
01 AFR2t2l Yl 15,000 15,000 0
ONJM=2 A2 29 10,000
O=ZKIAEE 5,000
02 =294l 184,300 162,900 21,400
O332= % HA 147,300
ocXIILIS(2IMA) 7,000,000& * 12& 84,000
oMol ER3 500,000& = 12& 6,000
ocEHAMNEREEZ 200,000 = 23] 400
cHSGELHESxE 800,000& =* 800
ozl EIIEAMNE 800,000& =* 800
oMI|HAMAHANE 600,000& =* 600
oMxXdHAE 20,000& = 100€ 4,000
ogtdAEZ 800,000& =* 3,200
oS U (HOHYLLE) 9,500,000& = 47,500
OA&E&Hl S Xl 12,000
cRAMSE ANEES A2 (2HA) 12,000
ORI AHHUAIAE S &4
500,000& = 12& 6,000
Ol LI X2 249
250,000& = 12& 3,000
ONEMEH B2 M2 249 16,000
202 (4] 1,296 1,296 0
01 2L Y] 1,296 1,296 0
OLNAMESH gRFA
81,000& » 2 x 22 * 43| 1,296
206 T2 HI 6,000 6,000 0
01 & bl 6,000 6,000 0
O&yg & S4l, &Y & M7 6,000
A DX HEAE U 5,000 5,000 0
401 Al HI L 2T 5,000 5,000 0
01 A& HI 5,000 5,000 0
OJedIDX = d | 5,000




SH: AEZYH D
HE: MM SY

S MFIIBAExd - 22l (&)
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/

= M

150,000

50,000
100,000

230,000

401 AIEHIZ 2 HHI

= M

150,000

50,000
100,000

230,000

280,000

01 A& HI
OSUIMSAIE EHI
ONMoIEEE Z

(==}
ONOIEEE AX &L

_L
=

nx
ﬂ

03 Al £ HHI
OANOIE=E AXTTCEXR

99,108,000& = 0.90/100

H

Al

149,108
30,000
20,000

99,108

50,000
49,108

892

892

229,100

900

AT9,992

A8

ne

m
|>
Hl
[

Et

A

R

Mo

= H®

,333,000
,000,000

466,000

,867,000

2,600,000

733,000

401 AIEBIZ S CHYI

= H K

,333,000
1,000,000

466,000

,867,000

2,600,000

733,000

01 A€ HI

OZEAZXEZ X

0x
=
1)

03 Al 2 THHI

OZEIAZXER ZdMY 20U
3

,324,025,000& = 0.27%

= H i

—_ W w

,324,025
, 324,025
,000,000

466,000

,858,025

8,975

8,975

2,590,673

9,327

733,352

A 352

=2UHSsHH

HO
09

= M W

500,000
60,000
42,000

398,000

20,000

480,000

iy
i

o

N
S
[Pl

300,000

300,000

SN RN
=)
J

r
:

40
Jo
oy

O
ny
o
0

()

HIE 212t

y
4
Jo
2
02
>
i)
o

300,000
300,000

300,000

401 A& H

E N ]

= MW

200,000
60,000
42,000
98,000

20,000

180,000

01 Al£ HI

O=2N=4dEH AIZEH

H

198,570

198,570
60,000

20,000

178,570




= - — SHE|
CHE - EI(BA) - NRAY - BYS e Hl D= 2t
< 42,000
Al 96,570
03 Al S THHI 1,430 0 1,430
OZYMSHE A&
198,570,000& * 0.72% 1,430
B DRAMSES2 HE = 300,000 0 300,000
= 90,000
= 63,000
Al 147,000
401 Al Bl 2B 300,000 0 300,000
= 90,000
= 63,000
Al 147,000
01 A& HI 298,000 0 298,000
OLNEM=2 M4 FHl 298,000
= 90,000
< 63,000
Al 145,000
03 Al 2 THHI 2,000 0 2,000
ODAMEZ AlE ZH 20l
298,000,000& * 0.671% 2,000
HE2AIH (AL = M) 60,003 58,376 1,627
el 2 24,163 22,536 1,627
ol 2| 24,163 22,536 1,627
101 14l 24,163 22,536 1,627
03 RIAHAZ2 B = 24,163 22,536 1,627
OSEZINE 2l 22X E= 24,163
cJIE2=s 44,6403 = 18 = 270 12,053
cdN= 12,053,000 = 4/12 4,018
cHXURSFIITE 44,6403 ~ 18 = 20 893
SR ELE
8,370% * 1H » 10AI2t » 128 1,005
oxFFd 44,6403 * 1% = 53¢ 2,366
o g Al 80,000& = 1&¥ = 123 960
o ZE FOHI 400,000 * 23] 800
S P Eaa= 12,053,000 * 10/100 1,206
o X I &l 21,541,000& * 4.0/100 862
Jl23 4l 35,840 35,840 0
JIE23l 35,840 35,840 0
201 L2l 30,360 30,360 0
01 At 22l 30,360 30,360 0
ORANE2Y Jl=dHl 6,600
ocALZ=x)|E 300,000& = 123 3,600

_13_




2N AT
M HH2IAZH(AEZ= M)
el JI=23Hl
x = - 4 14
SN FH-SA(EN) - MBAY - BES 0l &k o4 e
o AL XAlHA 250,000& = 123 3,000
OMRESE FY(SAMA 8) 4,800
oAIZX)|E 200,000 * 12& 2,400
o AZLIAL 200,000& » 122 2,400
OHFIAMRINI 228 7 7,200
ocALE=)|E 300,000 = 404 = 23l 2,400
o AIXYH 300,000& = 208 = 23l 1,200
o ALEIAlML 300,000& = 604 = 23l 3,600
o=l 11,760
oAEL=]|E 7,000& * 10 » 7 » 128 5,880
o AL EAAL 7,000& * 10 * 7 » 123 5,880
202 Oddl 1,280 1,280
01 = LH o4 1l 1,280 1,280
OblgZ22 2ol 1,280
203 YR =T Y 4,200 4,200
04 EAS2ZYRFLH 4,200 4,200
ORN2EYRF=AHI 350,000& = 123 4,200
HWees(AZ=d ) 50,000 50,000
TE PP 50,000 50,000
LHEHeHXI & 50,000 50,000
7020128532 50,000 50,000
01 JI3dE= 50,000 50,000
OM=ZEI=S dE=S 50,000




